SETTLEMENT AGREEMENT BETWEEN APS&EE, LLC AND MSC
INDUSTRIAL SUPPLY CO.

1. RECITALS
1.1 The Parties

1.1.1 This Settlement Agreement (“Agreement”) is entered into by and
between APS&EE, LLC (“APS&EE”) and MSC Industrial Supply Co. (“MSC”).
APS&EE and MSC shall hereinafter collectively be referred to as the “Parties”.

1.1.2 APS&EE represents that it is an organization based in California
with an interest in protecting the environment, improving human health and the health of
ecosystems, and supporting environmentally sound practices, which includes promoting
awareness of exposure to toxic chemicals and reducing exposure to hazardous substances
found in consumer products.

1.1.3 APS&EE alleges that MSC is a person in the course of doing
business as the term is defined in California Health & Safety Code section 25249.6 et seq.
(“Proposition 65).

1.2 Allegations

1.2.1 APS&EE alleges that MSC distributed, sold or made available for
sale in the State of California MSC Anchor Bolts manufactured, distributed or sold by
Edward W. Daniel, LLC, Lindstrom Metric, Inc., Lindstrom, LLC, LindFast Solutions
Group, and Metric Enterprises, Inc., including Eye Bolt, Gibraltar, /2-5”, and Hex Head
bolt, Value Collection, %-10, and listed in Exhibit A, attached to and included as part of
this Agreement (hereinafter, the “Product(s)”), causing users in California to be exposed
to hazardous levels of lead without providing “clear and reasonable warnings”, in
violation of Proposition 65. Lead is potentially subject to Proposition 65 warning
requirements because it is listed under that statute as known to the State of California to

cause cancer and birth defects or other reproductive harm.

1of7
Settlement Agreement between APS&EE, LLC and MSC Industrial Supply Co.



1.2.2 OnJanuary 17, 2020, APS&EE alleges that it served a Sixty-Day

Notice of Violation (“60-Day Notice”), along with a Certificate of Merit, to MSC, MSC
Industrial Direct Co., Inc., and the various public enforcement agencies regarding the
alleged violation of Proposition 65 with respect to the Products.

1.3  No Admissions

MSC denies all allegations in APS&EE’s 60-Day Notice and maintains that the
Products have been, and are, in compliance with all laws, and that MSC has not violated
Proposition 65. This Agreement shall not be construed as an admission of liability by
MSC but to the contrary as a compromise of claims that are expressly contested and
denied. However, nothing in this section shall affect the Parties’ obligations, duties, and
responsibilities under this Agreement.

14 Compromise

The Parties enter into this Agreement in order to resolve the controversy
described above in a manner consistent with prior Proposition 65 settlements and consent
judgments that were entered on behalf of the public interest and to avoid prolonged and
costly litigation between them.

1.5 Effective Date

The “Effective Date” shall be the date upon which a complete and fully executed
copy of the Agreement is delivered to each Party’s counsel.

2. INJUNCTIVE RELIEF

2.1 Reformulation Standard

Within sixty (60) days of the Effective Date, MSC shall not distribute, sell or
offer for sale the Products in California unless (a) the galvanizing solution in which the
Products are submerged contains no more than 100 parts per million (0.01%) of Lead
(“Reformulated Product™), or (b) the Product is distributed, sold, or offered for sale with

a clear and reasonable warning as described below in Section 2.2.

20f7
Settlement Agreement between APS&EE, LLC and MSC Industrial Supply Co.



2.2 Proposition 65 Warnings
Whenever a clear and reasonable warning is required under Section 2.1, MSC
shall use a warning with the capitalized and emboldened wording substantially similar to

the following:

WARNING: This product can expose you to Lead, which is known to
the State of California to cause cancer and birth defects or
other reproductive harm. For more information go to
www.P65Warnings.ca.gov

OR

WARNING: Cancer and Reproductive Harm.
www.P65Warnings.ca.gov

The warning shall be accompanied by a symbol consisting of a black exclamation
point in a yellow equilateral triangle with a bold black outline. Where the label for the
product is not printed using the color yellow, the symbol may be printed in black and
white. The symbol shall be placed to the left of the text of the warning, in a size no
smaller than the height of the word “WARNING”.

The Products shall carry said warning directly on each unit, label, or package with
such conspicuousness as compared with other words, statements or designs as to render it
likely to be read and understood by an ordinary consumer prior to sale. A Product that is
sold by MSC on the internet to persons located in California shall also provide the
warning message by a clearly marked hyperlink on the product display page, or otherwise
prominently displayed to the purchaser before the purchaser completes his or her
purchase of the Product.

2.3 Sell-through for Existing Inventory

The injunctive requirements of Section 2 shall not apply to any Products in

MSC'’s inventory on or before the Effective Date, which Products are subject to the

releases provided in Section 4.1.

30f7
Settlement Agreement between APS&EE, LLC and MSC Industrial Supply Co.



3. PAYMENTS

3.1 Civil Penalty Pursuant To Proposition 65

In settlement of all claims referred to in this Agreement, MSC shall pay a total
civil penalty of one thousand five hundred dollars ($1,500) to be apportioned in
accordance with Health and Safety Code section 25249.12(c)(1) and (d), with 75%
($1,125) for State of California Office of Environmental Health Hazard Assessment
(“OEHHA”), and the remaining 25% ($375) for APS&EE.

MSC shall cause to be issued on its behalf two (2) checks for the civil penalty: (1)
a check or money order made payable to “OEHHA” in the amount of $1,125; and (2) a
check or money order made payable to “Law Offices of Lucas T. Novak™ in the amount
of $375. MSC shall have the payments remitted within ten (10) business days of the

Effective Date, to:

Lucas T. Novak, Esq.

LAW OFFICES OF LUCAS T. NOVAK
8335 W Sunset Blvd., Suite 217

Los Angeles, CA 90069

3.2 Reimbursement Of APS&EE’s Fees And Costs

MSC shall reimburse APS&EE’s reasonable experts’ and attorney’s fees and
costs incurred in prosecuting the instant action, for all work performed through execution
of this Agreement. Accordingly, MSC shall cause to be issued on its behalf a check or
money order made payable to “Law Offices of Lucas T. Novak” in the amount of fifteen
thousand dollars ($15,000). MSC shall have the payment remitted within ten (10)

business days of the Effective Date, to:

Lucas T. Novak, Esq.

LAW OFFICES OF LUCAS T. NOVAK
8335 W Sunset Blvd., Suite 217

Los Angeles, CA 90069

4 0of 7
Settlement Agreement between APS&EE, LLC and MSC Industrial Supply Co.



4. RELEASES

4.1  APS&EE’s Release Of MSC

APS&EE, in consideration of the promises and monetary payments contained
herein, hereby releases MSC, its parents, subsidiaries, shareholders, directors, members,
officers, employees, attorneys, successors and assignees, as well as its upstream and
downstream suppliers, manufacturers, wholesalers, distributors, retailers, and franchisees,
including but not limited to, MSC Industrial Direct Co., Inc., Edward W. Daniel, LLC,
Lindstrom Metric, Inc., Lindstrom, LLC, LindFast Solutions Group, and Metric
Enterprises, Inc. (collectively “Released Parties™), from any alleged Proposition 65
violation claims asserted in APS&EE’s Notice regarding failure to warn about Lead
exposure from the Products that MSC or MSC Industrial Direct Co. Inc. has sold, caused
to be sold, and/or offered for sale in California before and up to sixty (60) days after the
Effective Date.

4.2  MSC’s Release Of APS&EE

MSC, and on behalf of the Released Parties, by this Agreement, waives all rights
to institute any form of legal action against APS&EE, its shareholders, directors,
members, officers, employees, attorneys, experts, successors and assignees for actions or
statements made or undertaken, whether in the course of investigating claims or seeking
enforcement of Proposition 65 against MSC relating to the Products in this matter.

4.3 Waiver Of Unknown Claims

Each of the Parties acknowledges that it is familiar with Section 1542 of

California Civil Code, which provides as follows:

A GENERAL RELEASE DOES NOT EXTEND TO CLAIMS THAT
THE CREDITOR OR RELEASING PARTY DOES NOT KNOW OR
SUSPECT TO EXIST IN HIS OR HER FAVOR AT THE TIME OF
EXECUTING THE RELEASE AND THAT, IF KNOWN BY HIM OR
HER, WOULD HAVE MATERIALLY AFFECTED HIS OR HER
SETTLEMENT WITH THE DEBTOR OR RELEASED PARTY.

50f7
Settlement Agreement between APS&EE, LLC and MSC Industrial Supply Co.



Each of the Parties waives and relinquishes any right or benefit it has or may have
under Section 1542 of California Civil Code or any similar provision under the statutory
or non-statutory law of any other jurisdiction to the full extent that it may lawfully waive
all such rights and benefits. The Parties acknowledge that each may subsequently
discover facts in addition to, or different from, those that it believes to be true with
respect to the claims released herein. The Parties agree that this Agreement and the
releases contained herein shall be and remain effective in all respects notwithstanding the
discovery of such additional or different facts.

S. SEVERABILITY

Should any part or provision of this Agreement for any reason be declared by a
Court to be invalid, void or unenforceable, the remaining portions and provisions shall
continue in full force and effect.

6. GOVERNING LAW

The terms of this Agreement shall be governed by the laws of the State of
California. In the event that Proposition 65 is repealed, preempted, or is otherwise
rendered inapplicable by reason of law generally, or as to the Products, then MSC shall
have not further obligations pursuant to this Agreement.

7. NOTICES

All correspondence and notices required to be provided under this Agreement

shall be in writing and delivered personally or sent by first class or certified mail

addressed as follows:

TO MSC: TO APS&EE:
Daniel A. Solitro Lucas Novak, Esq.
Locke Lord LLP Law Offices of Lucas T. Novak
300 South Grand Ave., Suite 2600 8335 W Sunset Blvd., Suite 217
Los Angeles, CA 90071 Los Angeles, CA 90069
and
Joseph J. Orzano
Seyfarth Shaw LLP
Seaport East, Suite 300

6 of 7
Settlement Agreement between APS&EE, LLC and MSC Industrial Supply Co.




2 Seaport Lane C s
Boston, MA 02210

8. COUNTERPARTS

This Agreement may be executed in counterparts, each of which shall be deemed
an original, and all of which, when taken together, shall constitute the same document.
Execution and delivery of this Agreement by e-mail, facsimile, or other electronic means
shall constitute legal and binding execution and delivery. Any photocopy of the executed
Agreement shall have the same force and effect as the originals.

9. AUTHORIZATION

The undersigned are authorized to execute this Agreement on behalf of their
respective Parties. Each Party has read, understood, and agrees to all of the terms and
conditions of this Agreement. Fach Party warrants to the other that it is free to enter into
this Agreement and is not subject to any conflicting obligation that will or might prevent

or interfere with the execution or performance of this Agreement by said Party.

AGREED TO:
Date: @WC 2, ROLD

By: %ﬁ)

Authorized Represéptative of APS&EE, LLC

AGREED TO:

Date:

By:

Lﬁﬁfﬁgrized Representative of MSC Industrial Supply Co.

SR S Ly e
WG C’i./‘"‘,v. L;i 4 s ks e M’:

70f7
Settlement Agreement between APS&EE, LLC and MSC industrial Supply Co.



2 Seaport Lane
Boston, MA 02210

8. COUNTERPARTS

This Agreement may be executed in counterparts, each of which shall be deemed
an original, and all of which, when taken together, shall constitute the same document.
Execution and delivery of this Agreement by e-mail, facsimile, or other electronic means
shall constitute legal and binding execution and delivery. Any photocopy of the executed
Agreement shall have the same force and effect as the originals.

9. AUTHORIZATION

The undersigned are authorized to execute this Agreement on behalf of their
respective Parties. Each Party has read, understood, and agrees to all of the terms and
conditions of this Agreement. Each Party warrants to the other that it is free to enter into
this Agreement and is not subject to any conflicting obligation that will or might prevent

or interfere with the execution or performance of this Agreement by said Party.

AGREED TO:

Date:

By:

Authorized Representative of APS&EE, LL.C

AGREED TO:

Date: /} { { % / %(//‘0
By: ’W L

LZ( rized Represent tive of MSC Industrlal SupI%ly Co.
7 ) /({L ;AA / UUM& @ 'YL%O/

7 of 7
Settlement Agreement between APS&EE, LLC and MSC Industrial Supply Co.




EXHIBIT A



Supplier

LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.

Supplier Id
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987

Supplier Part Number Product Gr Header Detail

USFW04401000G
USFW08800250G
USFW12500250G
USFW30000100G
AINB0880500CG
IHCS0880400CG
IHCS0880500CG
IHCS1000275CG
IHCS1000300CG
IHMB1130350CG
IHMB1130400CG
IHMB1130450CG
IHMB1130500CG
IHMB1130800CG
IHMB1250300CG
IHMB1250400CG
IHMB1500500CG
LCSA0380175CG
FHXNO031CG
FHXN125CG
FHXN113CG
FHXN150CG
DML300N0000G
DML100NO000G
LCSA60501200CG
LCSA60751000CG
LCSA0500100CG
PDCMO0060100CG
PDCK0060125CG
PDCMO0060125CG
PDCMO0060163CG
PDCK0060200CG
PDC50060200CG
PDCK0080250CG
PDC50080250CG
PDCK0080300CG
PDC50080300CG
DMLO31N0000G
DMLO50N0000G
DMLO63N0000G
DMLO75N0000G
LCSA0250300CG
LCSA0380200CG
LCSA0380400CG
LCSA0380500CG
LCSA0500250CG
LCSA0500300CG
FHXNO038CG
FHXNO50CG
FHXNO063CG
FHXNO75CG
FHXNO88CG
FHXN100CG
FWSIS025G
USFW07500500G
USFW10001000G
FFLW0310M-PK100
FFLW0380G-PK100
FFLWO0500G-PK50
FFLW0630G-PK25
FFLWO0750G-PK20
FFLW1130G-PK10
FFLW1250G-PK5
HHXN113CG
HHXN138CG
DHHN113CG
DHHN175CG
AINB0500125CG
AINB0500150CG
AINB0500175CG
AINB0500325CG
AINB0500400CG
AINB0630175CG
AINB0630200CG
AINB0630250CG
AINB0630275CG
AINB0630300CG
AINB0630500CG
AINB0630550CG
AINB0750150CG

311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311

Item ID

7/16" HD G 02212124
7/8" HD GA 02212140
USS FLAT WASHER 1-1/4" HD (02212165
USS FLAT WASHER 3" HD GAL\ 02212231
HVY HEX BOLT A325 W/I 7/8-9X5 GA 02694289
GRS GALV HEX HD CAP £ 7/8-9X4 03550175
GRS GALV HEX HD CAP £ 7/8-9X5 03550191
GRS GALV HEX HD CAP € 1-8 X 2-3/4 03550290
GRS GALV HEXHD CAP £1-8 X 3 03550308
GRS GALV HEX HD CAP € 1-1/8-7 X 3 03550472
GRS GALV HEX HD CAP € 1-1/8-7 X 4 03550480
GRS GALV HEX HD CAP S 1 1/8-7 X 4 03550498
GRS GALV HEX HD CAP € 1-1/8-7 X 5 03550506
GRS GALV HEX HD CAP € 1-1/8-7 X 8 03550555
GRS GALV HEX HD CAP € 1-1/4-7 X 3 03550605
GRS GALV HEX HD CAP € 1-1/4-7 X 4 03550621
GRS GALV HEX HD CAP € 1-1/2-6 X 5 03550738
HEX HEAD BOLT 3/8-16X1-3 06499859
FINISHED HEX NUT 5/16-18 HL 07394844
FINISHED HEX NUT 1-1/4-7 HD 08520785
FINISHED HEX NUT 1-1/8-7 HD 09173295
FINISHED HEX NUT 1-1/2-6 HD 09173311
MEDIUM SPLIT LOCK W£ 3" HD GAL\ 09173659

USS FLAT WASHER
USS FLAT WASHER

LOCK WASHERS
HEX HEAD BOLT
HEX HEAD BOLT
HEX HEAD BOLT

1" HD GAL\ 09409442
1/2-13X12 09964636
3/4-10X10 09964651
1/2-13X1 G 53464400

DECK SCREW GALVANIZE #6 X 1" 67318048
DECK SCREW GALVANIZE #6 X 1 1/4" 67318089
DECK SCREW GALVANIZE #6 X 1 1/4" 67318121
DECK SCREW GALVANIZE #6 X 1 5/8" 67318204
DECK SCREW GALVANIZE #6 X 2" 67318246
DECK SCREW GALVANIZE #6 X 2" 67318287
DECK SCREW GALVANIZE #8 X 2 1/2" 67318329
DECK SCREW GALVANIZE #8 X 2 1/2 67318360

DECK SCREW GALVANIZE #8 X 3"
DECK SCREW GALVANIZt #8 X 3"
LOCK WASHER GALVANIL:
LOCK WASHER GALVANL:
LOCK WASHER GALVANIL:
LOCK WASHER GALVANL:

Hx Hd Bolt GR 2
Hx Hd Bolt GR 2
Hx Hd Bolt GR 2
Hx Hd Bolt GR 2
Hx Hd Bolt GR 2
Hx Hd Bolt GR 2

67318402
67318444
16-May 67318527
2-Jan 67318600
8-May 67318642
4-Mar 67318683
1/4-20x3 H 67459040
3/8-16x2 H 67459164
3/8-16x4 H 67459321
3/8-16x5 H 67459404
1/2-13x2 1, 67459602
1/2-13x3 H 67459644

HEX NUT GALVANIZED S
HEX NUT GALVANIZED S'
HEX NUT GALVANIZED S
HEX NUT GALVANIZED S
HEX NUT GALVANIZED S'

3/8/16 67469965
1/2/13 67470047
5/8/11 67470088
3/4/10 67470120
7/8/09 67470161

HEX NUT GALVANIZED S 8-Jan 67470203
FLAT WASHER GAL ST 4-Jan 67500801
FLAT WASHER GAL ST 4-Mar 67501007
FLAT WASHER GAL ST 1 67501049

MECHAN GALV FLAT WA F436 5/16" 70284161
MECHAN GALV FLAT WA F436 3/8" 70284179
MECHAN GALV FLAT WA F436 1/2" 70284187
MECHAN GALV FLAT WA F436 5/8" 70284195
MECHAN GALV FLAT WA F436 3/4" 70284203
MECHAN GALV FLAT WA F436 1-1/8 70284237
MECHAN GALV FLAT WA F436 1-1/4 70284245
HEAVY HEX NUT GR 2 1-1/8- 72047541

HEAVY HEX NUT
HEAVY HEX NUT
HEAVY HEX NUT

GR 2 1-3/8- 72047566
A563 GR DI 72047699
A563 GR DI 72047723

HVY HEX BOLT A325 W/I 1/2-13X1-1 75103960
HVY HEX BOLT A325 W/I 1/2-13X1-1 75103978
HVY HEX BOLT A325 W/I 1/2-13X1-3 75103986
HVY HEX BOLT A325 W/I 1/2-13X3-1 75104042
HVY HEX BOLT A325 W/I 1/2-13X4 G 75104075
HVY HEX BOLT A325 W/I 5/8-11X1-3 75104091
HVY HEX BOLT A325 W/I 5/8-11X2 G 75104109
HVY HEX BOLT A325 W/I 5/8-11X2-1 75104125
HVY HEX BOLT A325 W/I 5/8-11X2-3 75104133
HVY HEX BOLT A325 W/I 5/8-11X3 G 75104141
HVY HEX BOLT A325 W/I 5/8-11X5 G 75104208
HVY HEX BOLT A325 W/I 5/8-11X5-1 75104216
HVY HEX BOLT A325 W/I 3/4-10X1-1 75104224



LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.

000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987

AINB0750175CG
AINB0750200CG
AINB0750225CG
AINB0750250CG
AINB0750275CG
AINB0750300CG
AINB0750350CG
AINB0750400CG
AINB0750500CG
AINB0750550CG
AINB0750600CG
AINB0750700CG
AINB0880250CG
AINB0880275CG
AINB0880450CG
AINB0880475CG
AINB0880550CG
AINB1000250CG
AINB1000300CG
AINB1000350CG
AINB1000400CG
AINB1000450CG
AINB1250300CG
OGEE0630G
OGEE0750G
LCSA0310100CG
LCSA0310150CG
LCSA0310200CG
DMLO88N0000G
DML125N0000G
DML150N0000G
DML250N0000G
HCGE0380300CG-N
HCGE0380600CG-N
HCGE0500500CG-N
LAGS0250175CG
LAGS0310175CG
LAGS0381000CG
LAGS0381200CG
LAGS0501200CG
LAGS0751000CG
LAGS0751200CG
LAGS0751600CG
IHCS0250075CG
IHCS0250100CG
IHCS0250125CG
IHCS0250150CG
IHCS0250225CG
IHCS0250300CG
IHCS0250600CG
IHCS0310075CG
IHCS0310100CG
IHCS0310125CG
IHCS0380075CG
IHCS0380125CG
IHCS0380150CG
IHCS0380200CG
IHCS0380250CG
IHCS0380300CG
IHCS0380550CG
IHCS0440125CG
IHCS0440150CG
IHCS0440175CG
IHCS0440375CG
IHCS0440400CG
IHCS0500150CG
IHCS0500175CG
IHCS0500225CG
IHCS0500275CG
IHCS0500400CG
IHCS0630125CG
IHCS0630150CG
IHCS0630250CG
IHCS0630350CG
IHCS0630400CG
IHCS0630450CG
IHCS0630800CG
IHCS0750200CG
IHCS0750250CG
IHCS0750350CG
IHCS0750400CG

311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
149
145
311
311
311
311
311
311
311
31
31
31
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311

S A

HVY HEX BOLT A325 W/| 3/4-10X1-3 75104232
HVY HEX BOLT A325 W/I 3/4-10X2 G 75104240
HVY HEX BOLT A325 W/| 3/4-10X2-1 75104257
HVY HEX BOLT A325 W/| 3/4-10X2-1 75104265
HVY HEX BOLT A325 W/I 3/4-10X2-3 75104273
HVY HEX BOLT A325 W/I 3/4-10X3 G 75104281
HVY HEX BOLT A325 W/I 3/4-10X3-1 75104307
HVY HEX BOLT A325 W/I 3/4-10X4 G 75104323
HVY HEX BOLT A325 W/I 3/4-10X5 G 75104364
HVY HEX BOLT A325 W/| 3/4-10X5-1 75104372
HVY HEX BOLT A325 W/I 3/4-10X6 G 75104380
HVY HEX BOLT A325 W/I 3/4-10X7 G 75104406
HVY HEX BOLT A325 W/| 7/8-9X2-1/ 75104463
HVY HEX BOLT A325 W/| 7/8-9X2-3/. 75104471
HVY HEX BOLT A325 W/| 7/8-9X4-1/ 75104547
HVY HEX BOLT A325 W/| 7/8-9X4-3/. 75104554
HVY HEX BOLT A325 W/| 7/8-9X5-1/ 75104562
HVY HEX BOLT A325 W/| 1-8X2-1/2 ( 75104612
HVY HEX BOLT A325 W/I 1-8X3 GAL\ 75104638
HVY HEX BOLT A325 W/I 1-8X3-1/2 ( 75104653
HVY HEX BOLT A325 W/| 1-8X4 GAL\ 75104679
HVY HEX BOLT A325 W/| 1-8X4-1/2 ( 75104695
HVY HEX BOLT A325 W/I 1-1/4-7X3 ( 75104935
OGEE WASHERS 5/8" HD G£ 75559716
OGEE WASHERS 3/4" HD G# 75559724
HEX HEAD BOLT 5/16-18X1 79869707
HEX HEAD BOLT 5/16-18X1- 79869723
HEX HEAD BOLT 5/16-18X2 79869731
LOCK WASHERS 7/8" HD G# 84020288
LOCK WASHERS 1-1/4" HD ( 84020304
LOCK WASHERS 1-1/2" HD ( 84020312
LOCK WASHERS 2-1/2" HD ( 84020346
CARRIAGE SCREW W/NL 3/8-16X3 G 85078137
CARRIAGE SCREW W/NL 3/8-16X6 G 85078186
CARRIAGE SCREW W/NL 1/2-13X5 G 85078269
HEX HEAD LAG SCREW  1/4X1-3/4 185078293
HEX HEAD LAG SCREW  5/16X1-3/4 85078327
HEX HEAD LAG SCREW  3/8X10 HD' 85078384
HEX HEAD LAG SCREW  3/8X12 HD' 85078392
HEX HEAD LAG SCREW  1/2X12 HD' 85078442
HEX HEAD LAG SCREW  3/4X10 HD' 85078632
HEX HEAD LAG SCREW  3/4X12 HD' 85078640
HEX HEAD LAG SCREW  3/4X16 HD' 85078665
GRS GALV HEX HD CAP € 1/4-20 X 3/ 88181698
GRS GALV HEX HD CAP € 1/4-20 X 1 88181706
GRS GALV HEX HD CAP € 1/4-20 X 1- 88181714
GRS GALV HEX HD CAP € 1/4-20 X 1- 88181722
GRS GALV HEX HD CAP € 1/4-20 X 2- 88181763
GRS GALV HEX HD CAP € 1/4-20 X 3 88181789
GRS GALV HEX HD CAP S 1/4-20 X 6 88181847
GRS GALV HEX HD CAP € 5/16-18 X = 88181854
GRS GALV HEX HD CAP € 5/16-18 X 188181862
GRS GALV HEX HD CAP € 5/16-18 X 188181870
GRS GALV HEX HD CAP € 3/8-16 X 3/ 88181953
GRS GALV HEX HD CAP € 3/8-16 X 1- 88181979
GRS GALV HEX HD CAP € 3/8-16 X 1- 88181987
GRS GALV HEX HD CAP € 3/8-16 X 2 88182001
GRS GALV HEX HD CAP € 3/8-16 X 2- 88182027
GRS GALV HEX HD CAP € 3/8-16 X 3 88182043
GRS GALV HEX HD CAP € 3/8-16 X 5- 88182118
GRS GALV HEX HD CAP € 7/16-14 X 188182142
GRS GALV HEX HD CAP € 7/16-14 X 188182159
GRS GALV HEX HD CAP € 7/16-14 X 188182290
GRS GALV HEX HD CAP € 7/16-14 X = 88182373
GRS GALV HEX HD CAP € 7/16-14 X £ 88182381
GRS GALV HEX HD CAP € 1/2-13 X 1- 88182456
GRS GALV HEX HD CAP € 1/2-13 X 1- 88182464
GRS GALV HEX HD CAP € 1/2-13 X 2- 88182480
GRS GALV HEX HD CAP € 1/2-13 X 2- 88182506
GRS GALV HEX HD CAP € 1/2-13 X 4 88182555
GRS GALV HEX HD CAP € 5/8-11 X 1- 88182654
GRS GALV HEX HD CAP € 5/8-11 X 1- 88182662
GRS GALV HEX HD CAP € 5/8-11 X 2- 88182704
GRS GALV HEX HD CAP € 5/8-11 X 3- 88182753
GRS GALV HEX HD CAP £ 5/8-11 X 4 88182779
GRS GALV HEX HD CAP € 5/8-11 X 4- 88182787
GR5 GALV HEX HD CAP $5/8-11 X 8 88182852
GRS GALV HEX HD CAP € 3/4-10 X 2 88182902
GRS GALV HEX HD CAP € 3/4-10 X 2- 88182928
GRS GALV HEX HD CAP € 3/4-10 X 3- 88182969
GRS GALV HEX HD CAP € 3/4-10 X 4 88182985



LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.
LINDSTROM METRIC INC.

EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO

000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987
000037987

000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138

IHCS0750450CG
IHCS0750600CG
IHCS0750800CG
IHCS0880225CG
LCSA60501000CG
LCSA60631100CG
LCSA60631300CG
LCSA60631800CG
LCSA60632000CG
LCSA60750850CG
LCSA60750900CG
LCSA60751100CG
LCSA60751200CG
LCSA60751400CG
LCSA60751800CG
LCSA60752000CG
LCSA60881000CG
LCSA61001000CG
LCSA61001200CG
LCSA0250050CG
LCSA0250125CG
LCSA0250175CG
LCSA0250450CG
LCSA0310075CG
LCSA0310125CG
LCSA0310175CG
LCSA0310225CG
LCSA0310250CG
LCSA0310300CG
LCSA0310500CG
LCSA0380075CG
LCSA0380125CG
LCSA0440500CG
LCSA0440600CG
LCSA0500075CG
LCSA0500125CG
LCSA0500175CG
LCSA0500225CG
LCSA0630125CG
LCSA0630150CG
LCSA0630450CG
LCSA0630500CG
LCSA0630550CG
LCSA0630600CG
LCSA0750125CG
LCSA0750200CG
LCSA0750350CG
LCSA0750400CG
LCSA0750550CG
LCSA0880150CG
LCSA1000200CG

15738sP
15838
15842
15840
15847
15852
15854
15862
15866
15890
12436
12443
12448
12352sP
12457
12462
12467
12485
14611UNF
14621UNF
14631UNF
14638UNF
14641UNF
14661UNF
14672UNF
14682UNF
14702UNF
ZP14611
ZP14621

311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311
311

145
145
145
145
145
145
145
145
145
145
14
14
14
14
14
14
14
14
145
145
145
145
145
145
145
145
145
145
145

oo ooaan

GRS GALV HEX HD CAP € 3/4-10 X 4- 88182993
GRS GALV HEX HD CAP € 3/4-10 X 6 88183025
GRS GALV HEX HD CAP € 3/4-10 X 8 88183066
GRS GALV HEX HD CAP € 7/8-9 X 2-1 88183108
HEX HEAD BOLT 1/2-13X10 89965172
HEX HEAD BOLT 5/8-11X11 89965214
HEX HEAD BOLT 5/8-11X13 89965230
HEX HEAD BOLT 5/8-11X18 89965263
HEX HEAD BOLT 5/8-11X20 89965271
HEX HEAD BOLT 3/4-10X8.5 89965289
HEX HEAD BOLT 3/4-10X9 G 89965297
HEX HEAD BOLT 3/4-10X11 89965305
HEX HEAD BOLT 3/4-10X12 89965313
HEX HEAD BOLT 3/4-10X14 89965339
HEX HEAD BOLT 3/4-10X18 89965362
HEX HEAD BOLT 3/4-10X20 89965370
HEX HEAD BOLT 7/8-9X10 G 89965404
HEX HEAD BOLT 1-8X10 GR: 89965552
HEX HEAD BOLT 1-8X12 GR: 89965560
HEX HEAD BOLT 1/4-20X1/2 89966154
HEX HEAD BOLT 1/4-20X1-1 89966188
HEX HEAD BOLT 1/4-20X1-3 89966204
HEX HEAD BOLT 1/4-20X4-1 89966253
HEX HEAD BOLT 5/16-18X3/ 89966303
HEX HEAD BOLT 5/16-18X1- 89966311
HEX HEAD BOLT 5/16-18X1- 89966329
HEX HEAD BOLT 5/16-18X2- 89966337
HEX HEAD BOLT 5/16-18X2- 89966345
HEX HEAD BOLT 5/16-18X3 89966352
HEX HEAD BOLT 5/16-18X5 89966394
HEX HEAD BOLT 3/8-16X3/4 89966428
HEX HEAD BOLT 3/8-16X1-1 89966436
HEX HEAD BOLT 7/16-14X5 89966584
HEX HEAD BOLT 7/16-14X6 89966600
HEX HEAD BOLT 1/2-13X3/4 89966618
HEX HEAD BOLT 1/2-13X1-1 89966626
HEX HEAD BOLT 1/2-13X1-3 89966634
HEX HEAD BOLT 1/2-13X2-1 89966642
HEX HEAD BOLT 5/8-11X1-1 89966709
HEX HEAD BOLT 5/8-11X1-1 89966717
HEX HEAD BOLT 5/8-11X4-1 89966790
HEX HEAD BOLT 5/8-11X5 G 89966808
HEX HEAD BOLT 5/8-11X5-1 89966816
HEX HEAD BOLT 5/8-11X6 G 89966824
HEX HEAD BOLT 3/4-10X1-1 89966840
HEX HEAD BOLT 3/4-10X2 G 89966873
HEX HEAD BOLT 3/4-10X3-1 89966915
HEX HEAD BOLT 3/4-10X4 G 89966923
HEX HEAD BOLT 3/4-10X5-1 89966956
HEX HEAD BOLT 7/8-9X1-1/ 89966972
HEX HEAD BOLT 1-8X2 GR2 89967095

LG SHNK SHOULDER EYE 3/8-16 X2-: 01282839
LG SHNK SHOULDER EYE 3/8-16 X 6 01282847
LG SHNK SHOULDER EYE 1/2-13 X 4 01282854
LG SHNK SHOULDER EYE 1/2-13 X 6 01282862
LG SHNK SHOULDER EYE 1/2-13 X 1z 01282870
LG SHNK SHOULDER EYE 5/8-11 X 6 01282888
LG SHNK SHOULDER EYE 5/8-11 X 1z 01282896
LG SHNK SHOULDER EYE 3/4-10X 6 01282904
LG SHNK SHOULDER EYE 3/4-10 X 1z 01282912
LG SHNK SHOULDER EYE 1-8 X6 01282920
LG SHANK PLAIN EYE BO 3/8-16 X 6 01282938
LG SHANK PLAIN EYE BO 1/2-13 X 6 01282946
LG SHANK PLAIN EYE BO 1/2-13 X 1z 01282953
LG SHANK PLAIN EYE BO 5/8-11 X 6 01282961
LG SHANK PLAIN EYE BO 5/8-11 X 1z 01282979
LG SHANK PLAIN EYE BO 3/4-10X 6 01282987
LG SHANK PLAIN EYE BO 3/4-10 X 1z 01282995
LG SHANK PLAIN EYEBO 1-8 X 12 01283001
SHOULDER EYE BOLTS U 1/4-28 X1 01283019
SHOULDER EYE BOLTS U 5/16-24 X 101283027
SHOULDER EYE BOLTS U 3/8-24 X 1. 01283035
SHOULDER EYE BOLTS U 7/16-20 X 101283043
SHOULDER EYE BOLTS U 1/2-20 X 1. 01283050
SHOULDER EYE BOLTS U 5/8-18 X 1. 01283068
SHOULDER EYE BOLTS U 3/4-16 X 2. 01283076
SHOULDER EYE BOLTS U 7/8-14 X 2. 01283084
SHOULDER EYE BOLTS U 1-14 X 2.50 01283092
SHOULDER EYE BOLT ZIN 1/4-20 X 1. 01283100
SHOULDER EYE BOLT ZIN5/16-18 X 101283118



EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO

000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138

ZP14631
ZP14641
ZP14661
ZP14672
ZP14682
ZP14702
ZP13611
ZP13621
ZP13631
ZP13641
ZP13661
ZP13672
ZP13682
ZP13702
HG14631
HG14641
HG14661
HG14672
41390
41391
41392
41393
41394
58008
58010
58012
58016
58020
58024
58030
58036
5513611
5513621
5513631
5513661
5513672
$513702
5514611
5514621
$512314
§512323
5512334
5512343
§512352
5512362
$517734
$517741
$517743
$517752
$517762
13631LT
13461LT
13661LT
13672LT
13682LT
13702LT
14631LT
14641LT
14661LT
14672LT
14682LT
14702LT
14006M
14007M
14008M
14010M
14012m
14014M
14016M
14018M
14020M
14024M
14027M
14030M
14036M
12310
12314
12316
12319
12330
12334

145
145
145
145
145
145
14
14
14
14
14
14
14
14
145
147
147
145
145
145
145
145
145
31
31
31
31
31
31
31
31
145
145
145
145
145
145
145
145
145
145
145
145
145
145
145
145
145
145
145
145
145
145
145
145
145
145
145
145
145
145
145
145
145
145
145
147
145
145
145
145
145
145
145
145
145
145
145
147
145
145

GO oo aan

R R R RRRRPR

SHOULDER EYE BOLT ZIN 3/8-16 X 1. 01283126
SHOULDER EYE BOLT ZIN 1/2-13 X 1. 01283134
SHOULDER EYE BOLT ZIN5/8-11 X 1. 01283142
SHOULDER EYE BOLT ZIN 3/4-10 X 2. 01283159
SHOULDER EYE BOLT ZIN 7/8-9 X 2.2 01283167
SHOULDER EYE BOLT ZIN 1-8 X 2.50 01283175
PLAIN EYE BOLT ZINC ~ 1/4-20 X 1. 01283183
PLAIN EYE BOLT ZINC ~ 5/16-18 X 101283191
PLAIN EYE BOLT ZINC ~ 3/8-16 X 1. 01283209
PLAIN EYE BOLT ZINC ~ 1/2-13 X 1. 01283217
PLAIN EYE BOLT ZINC ~ 5/8-11X 1. 01283225
PLAIN EYE BOLT ZINC ~ 3/4-10 X 2. 01283233
PLAIN EYE BOLT ZINC ~ 7/8-9 X 2.2 01283241
PLAIN EYEBOLTZINC ~ 1-8 X 2.50 01283258
SHOULDER EYE BOLT GA 3/8-16 X 1. 01283266
SHOULDER EYE BOLT GA 1/2-13 X 1. 01283274
SHOULDER EYE BOLT GA 5/8-11 X 1. 01283282
SHOULDER EYE BOLT GA 3/4-10 X 2. 01283290
FORGED SCREW EYE BOI 1/4 SHANK 03519576
FORGED SCREW EYE BOI 5/16 SHAN 03519584
FORGED SCREW EYE BOI 3/8 SHANK 03519592
FORGED SCREW EYE BOI 1/2 SHANK 03519600
FORGED SCREW EYE BOI 5/8 SHANK 03519618
DINS580 LIFTING EYE M8 METRI( 03788619
DINS580 LIFTING EYE M10 METR 03788627
DINS580 LIFTING EYE M12 METR 03788635
DINS580 LIFTING EYE M16 METR 03788643
DINS580 LIFTING EYE M20 METR 03788650
DINS580 LIFTING EYE M24 METR 03788668
DINS580 LIFTING EYE M30 METR 03788676
DINS580 LIFTING EYE M36 METR 03788684

EWD 304 SS EYEBOLTS
EWD 304 SS EYEBOLTS
EWD 304 SS EYEBOLTS
EWD 304 SS EYEBOLTS
EWD 304 SS EYEBOLTS
EWD 304 SS EYEBOLTS
EWD 304 SS EYEBOLTS
EWD 304 SS EYEBOLTS

1/4 X 1 PL 06903306
5/16 X1-1/: 06903314
3/8 X 1-1/4 06903322
5/8 X1-3/4 06903348
3/4 X 2 PLA 06903355
1X21/2P106903363
1/4 X 1 SHL 06903371
5/16 X 1-1/ 06903389

EWD 304 SS NUT EYEBO 1/4 X 4 PLA 06903405
EWD 304 SS NUT EYEBO 5/16 X 4 PL 06903413
EWD 304 SS NUT EYEBO 3/8 X 4 1/2 06903421
EWD 304 SS NUT EYEBO 1/2 X 6 PLA 06903447
EWD 304 SS NUT EYEBO 5/8 X 6 PLA 06903454
EWD 304 SS NUT EYEBO 3/4 X 6 PLA 06903462
EWD 304 SS NUT EYEBO 3/8 X 4-1/2 06903470
EWD 304 SS NUT EYEBO 1/2X41/2 S 06903488
EWD 304 SS NUT EYEBO 1/2 X 6 SHL 06903496
EWD 304 SS NUT EYEBO 5/8 X 6 SHL 06903504
EWD 304 SS NUT EYEBO 3/4 X 6 SHL 06903512

EWD ALLOY EYEBOLTS
EWD ALLOY EYEBOLTS
EWD ALLOY EYEBOLTS
EWD ALLOY EYEBOLTS
EWD ALLOY EYEBOLTS
EWD ALLOY EYEBOLTS
EWD ALLOY EYEBOLTS
EWD ALLOY EYEBOLTS

3/8 X 1-1/4 06903553
1/2 X 1-1/2 06903561
5/8 X 1-3/4 06903579
3/4 X 2 PLA 06903587
7/8 X 2-1/4 06903595
1X 2-1/2 PL 06903603
3/8 X 1-1/4 06903611
1/2 X 1-1/2 06903629

EWD ALLOY EYEBOLTS ~ 5/8 X 1-3/4 06903637
EWD ALLOY EYEBOLTS ~ 3/4 X 2 SHL 06903645
EWD ALLOY EYEBOLTS ~ 7/8 X 2-1/4 06903652
EWD ALLOY EYEBOLTS 1 X 2-1/2 S| 06903660
METRIC EYEBOLTS M6X 1.0 06903702
METRIC EYEBOLTS M7X1.0 06903710
METRIC EYEBOLTS M8 X 1.25 06903728
METRIC EYEBOLTS M10 X 1.5 06903736
METRIC EYEBOLTS M12 X 1.7! 06903744
METRIC EYEBOLTS M14 X 2.0 06903751
METRIC EYEBOLTS M16 X 2.0 06903769
METRIC EYEBOLTS M18 X 2.5 06903777
METRIC EYEBOLTS M20X 2.5 06903785
METRIC EYEBOLTS '24X3.0 06903793
METRIC EYEBOLTS M27 X3.0 06903801
METRIC EYEBOLTS M30X 3.5 06903819
METRIC EYEBOLTS M36 X 4.0 06903827
DROP FORGED EYE BLTS 1/4"X 2" RE 07844012
DROP FORGED EYE BOLT 1/4"X 4" RE 07844020
DROP FORGED EYE BOLT 1/4"X 6" RE 07844038
DROP FORGED EYE BOLT 5/16"X2 1/ 07844053
DROP FORGED EYE BOLT 3/8"X2 1/2 07844061
DROP FORGED EYE BOLT 3/8"X4 1/4 07844079



EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO
EDWARD W. DANIEL CO

000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138
000017138

12336
12343CUT
12440
12343
15710
15714
15719
15730
15833
15841
15743
14611
14621
14631
14638
14641
14650
14661
14672
14682
14702
14712
14723
14753
14770
14780
13611
13631
13638
13641
13650
13661
13672
13682
13702
13712
13723
13753
13770
13780
5514631
5514641
5514661
5514672
$514702
12323
12326
12331
12333
12347
12350
12360
12364
12366
12371
12380
15740
15741
15752
15762
16310
16315
16320

14
14
14
14
14
14
14
14
14
14
14
14
14
14
14
14
14
14
14
14
31
14
14
14
14
14
14
14
14
14
14
14
14
14
14
14
14
14
14
14
14
14
14
14
14
14
14
14
14
14
14
14
14
14
14
14
14
14
14
14
14
14
14

5
5
5
5
5
5
5
5
5
5
5
5
5
7
5
7
7
7
7
5
3
5
5
5
5
5
5
5
5
5
5
5
5
5
5
5
5
5
5
5
5
5
5
5
5

[ I R I I R I I R R

5
5
5
5

[N

DROP FORGED EYE BOLT 3/8"X6" RE 07844087
DROP FORGED EYE BOLT 1/2"X2" RE 07844095
DROP FORGED EYE BOLT 1/2"X4 1/2 07844103
DROP FORGED EYE BOLT 1/2"X6" RE 07844111
DROP FORGED EYE BLTS 1/4"X2"SH( 07844210
DROP FORGED EYE BLTS 1/4"X4"SH( 07844228
DROP FORGED EYE BLTS 5/16"X2 1/ 07844236
DROP FORGED EYE BLTS 3/8"X2 1/2 07844244
DROP FORGED EYE BLTS 3/8"X4 1/4 07844251
DROP FORGED EYE BLTS 1/2"X2" SH 07844269
DROP FORGED EYE BLTS 1/2"X6" SH 07844277
SHOULD.TYPE THR.EYE E 1/4-20 X 1 08099012
SHOULD.TYPE THR.EYE E 5/16-18X1 08099020
SHOULD.TYPE THR.EYE E 3/8-16X1 1 08099038
SHOULD. TYOE THR. EYE 7/16-14 X 108099046
SHOULD.TYPE THR.EYE E 1/2-13X1 1 08099053
SHOULD. TYOE THR. EYE 9/16-12 X 108099061
SHOULD.TYPE THR.EYE E 5/8-11 X 1 08099079
SHOULD.TYPE THR.EYE E 3/4-10X2 08099087
SHOULD.TYPE THR.EYE E 7/8-9 X 2 1, 08099095
SHOULD.TYPE THR.EYE E 1-8 X 2 1/2 08099103
SHOULD.TYPE THR.EYE E 11/8 X 2 3, 08099111
SHOULD.TYPE THR.EYE E 1 1/4-7 X 3 08099129
SHOULD.TYPE THR.EYE E 1 1/2-6 X 3 08099145
SHOULD.TYPE THR.EYE E 1 3/4 X 3 3, 08099160
SHOULD.TYPE THR.EYE E 2"-4 1/2 X - 08099186
USA PLAIN EYE BOLTS ~ 1/4-20X1 08099319
USA PLAIN EYE BOLTS ~ 3/8-16X 1108099335
USA PLAIN EYE BOLTS ~ 7/16-14X 1 08099343
USA PLAIN EYE BOLTS ~ 1/2-13X 1108099350
USA PLAIN EYE BOLTS ~ 9/16-12X 1 08099368
USA PLAIN EYE BOLTS ~ 5/8-11X 12 08099376
USA PLAIN EYE BOLTS ~ 3/4-10X2 08099384
USA PLAIN EYE BOLTS ~ 7/8-9X 2 1/ 08099392
USA PLAIN EYE BOLTS ~ 1-8X 2 1/2 08099400
USA PLAIN EYEBOLTS ~ 11/8-7 X2 08099418
USA PLAIN EYEBOLTS 1 1/4-7 X 2 08099426
USA PLAIN EYEBOLTS 1 1/2 -6 X2 08099434
USA PLAIN EYEBOLTS 1 3/4 -5 X2 08099442
USA PLAIN EYEBOLTS ~ 2-41/2 X 4 08099459
SHOULDER EYEBOLTS ST 3/8-16 X 1. 08099731
SHOULDER EYEBOLTS ST 1/2-13 X 1. 08099756
SHOULDER EYEBOLTS ST 5/8-11 X 1. 08099772

SHOULDER EYEBOLTS ST 3/4-10 X 2. 08099780
SHOULDER EYEBOLTS ST 1" X 2.50 L« 08099806
PLAIN PAT NUT EYE BOL15/16 X4 78144128
PLAIN PAT NUT EYE BOL15/16 X6 78144136
PLAIN PAT NUT EYE BOL13/8 X 3 78144144
PLAIN PAT NUT EYE BOL13/8 X 4 78144151
PLAIN PAT NUT EYE BOL11/2X 10 78649662
PLAIN PAT NUT EYE BOL15/8 X 4 78649670
PLAIN PAT NUT EYE BOL13/4 X 4 78649696
PLAIN PAT NUT EYE BOL13/4 X 8 78649712
PLAIN PAT NUT EYE BOL13/4X 10 78649720
PLAIN PAT NUT EYE BOL17/8 X 6 78649738
PLAIN PAT NUT EYEBOL11X 6 78649746
SHOULDER NUT EYE BOI 1/2 X 3-1/4 78649753
SHOULDER NUT EYE BOI 1/2 4 78649761
SHOULDER NUT EYE BOI 5/8 X 6 78649787
SHOULDER NUT EYE BOI 3/4 X 6 78649795
HIGH STRENGTH LIFTINC 8-Jan 78701810
HIGH STRENGTH LIFTINC 1-1/4-7 78701828
HIGH STRENGTH LIFTINC 1-1/2-6 78701836



